
Haus der 
Vielecke

Quadrat

Rechteck

Parallelogramm

Raute

Dreieck

Trapez



a

aStartpunkt
𝑈 = 𝑎 + 𝑎+ 𝑎+ 𝑎

𝑈 = 4 ∙ 𝑎

Inhalt

a

a

𝐴 = 𝑎 ∙ 𝑎

𝐴 = 𝑎²



b

aStartpunkt
𝑈 = 𝑎 + 𝑏+ 𝑎+ 𝑏

𝑈 = 2 ∙ 𝑎 + 2 ∙ 𝑏

a

b

𝐴 = 𝑎 ∙ 𝑏
Inhalt



b

aStartpunkt
𝑈 = 𝑎 + 𝑏+ 𝑎+ 𝑏

𝑈 = 2 ∙ 𝑎 + 2 ∙ 𝑏

a

b

𝐴 = ℎ ∙ 𝑏h

Inhalt



a

aStartpunkt
𝑈 = 𝑎 + 𝑎+ 𝑎+ 𝑎

𝑈 = 4 ∙ 𝑎

a

a

𝐴 = 𝑎 ∙ ℎ
h

Inhalt



b

aStartpunkt 𝑈 = 𝑎 + 𝑏+ 𝑐

𝑈 = 𝑎 + 𝑏 + 𝑐

a

𝐴𝑃𝑎𝑟𝑎𝑙𝑙𝑒𝑙𝑜𝑔𝑟𝑎𝑚𝑚 = 𝑐 ∙ ℎ𝑐

c

bInhalt

hc

𝐴𝐷𝑟𝑒𝑖𝑒𝑐𝑘 =
𝑐 ∙ ℎ𝑐
2

c



b

a

Startpunkt 𝑈 = 𝑎 + 𝑏+ 𝑐 + 𝑑

𝑈 = 𝑎 + 𝑏 + 𝑐 + 𝑑

a

c

d

bd

c

db

ac

h

𝐴𝑃𝑎𝑟𝑎𝑙𝑙𝑒𝑙𝑜𝑔𝑟𝑎𝑚𝑚 = 𝑎 + 𝑐 ∙ ℎ

𝐴𝑇𝑟𝑎𝑝𝑒𝑧 =
𝑎 + 𝑐

2
∙ ℎm

𝐴𝑇𝑟𝑎𝑝𝑒𝑧 = 𝑚 ∙ ℎ

Inhalt


